Assembly Instructions

LCC-314
Low
Adirondack
Chair

Required Tools:

- Hammer

- 7/16" Wrench or Socket
- Cordless Drill

- #2 Square Drive bit

Hardware:

-(2) 1/4" x 3 1/2" bolts
- (8) 1/4" x 2 1/2" bolts
- (10) 1/4" flange nuts
- (8) 1 1/4" screws

- (4) 2" screws

Step 1

Using (4) 1/4" x 2 1/2" bolts and (4)
1/4" flange nuts attach seat (B) to
back (A).

Step 2

Using (4) 1/4" x 2 1/2" bolts and (4)
1/4" flange nuts attach legs (C) to
seat.

WILDRIDGE

QUALITY POLY FURNITURE

www.wildridge.com
330-893-4212 ©2017




Assembly Instructions

-

Step 3 Step 4

Now slide brace (D) in groove in front leg and fasten Attach arm (E) to back with (2) 1/4" x 3 1/2" bolts and

with (4) 2" screws. (2) 1/4" flange nuts. Fasten front of arm using (8) 1
1/4" screws. Note: Measure 3/4" overhang on inside as
shown.

WILDRIDGE

TY POLY FURNITURE

www.wildridge.com
330-893-4212

= : =
Complete
\. © 2017 J




